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function E = ComputeEssentialMatrix(F, K) 
  
E = K' * F * K; 
  
[u d v] = svd(E); 
 
d(1,1) = 1; 
d(2,2) = 1; 
d(3,3) = 0; 
  
E = u * d * v'; 
 

D =   
 
1.0468         0         0 
         0    0.9975         0 
         0         0    0.0000 

D = 
 
    1.0000         0         0 
         0    1.0000         0 
         0         0    0.0000 



function [R1 t1, R2, t2, R3, t3, R4, t4] = … 
CameraPoseFromEssentialMatrix(E) 
  
[U D V] = svd(E); 
  
W = [0 -1 0; 
     1 0 0; 
     0 0 1];  
  
t1 = U(:,3); 
R1 = U * W * V'; 
if det(R1) < 0 
  t1 = -t1;  R1 = -R1; 
end 
  
… 
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